Comprehensive Test Series-01
(Determinants -: 4.2)

X1
TIME: 1hr.

General Instructions:
» All Questions are compulsory.
» Use of calculator is not permitted.

MM: 50

Q.1 Using the property of determinants and without expanding
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1 bc a(b+c)
(i) ca b(c+a)=0
1 ab c(ath)

@iii) | b+c q+r y+z a p X
c+ta r+p z+x | =2 |b q vy
atb p+q x+y cr z

Q. 2 By using properties of determinants. Show that

3. Show that

-a> ab ac
ba -b® bc |=4a’b’c?
ca cb -c?

4. Show that

x X

y ¥y 2=(x=y)(y-2(z-X)(xy + yz+ 2)
A 22
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5. Show that
a-b -c 2a 2a
2b b-c-a 2b |=(a+b+c)®
2c 2c c—-a-
6. Show that
1 x x?
x> 1 x|[=(01-%x%?
X x*1
7. Show that
1+a -b? 2ab -2a
2ab 1-a® +b? 2b =(1+a®+b?)?
2b -2a 1- a? -p?
8.Show that

1+ a 1 1
1 1+b 1 :abc(1+l+%+1j:abc+bc+ca+ab
1 1 1+ a ¢

9. Prove that

b+c a a
b c¢c+a b |=4abc
c c a+



